E=0=R 0

M E D

R

TVESE89  ZV6TE  66E£°TS9 | 9LSSTOT  O00£°OT  9L2STST | 00S°TEY  000°9T  00S°STY g9z°06 TY9°S  €29°'s
18ESTYL  YTVYE  €L6°90L | 8L9°SLT  T9SETT  LIT*Y9T | O00S°€EL7  000°LT  005°9S7 60z°z6  £€98°S  95€£998
6L8%6SL  958°S€  €20°%zL | 666°26T  LT9SET  2BE6LT | 000°YL?  00S°9T  00S°LSY 088°26 6ELSS  TYTCL8
Y02°€9L  BS6°€E  orelezL | 0S£°90z  €STEST  LATST6T | 00$°te8”  000°ST 005 °99Y 7Se°sL  S08°c  6YS°TL
$96°L29  SO6SLT  090°0T9 | SOLSEST  8€8°L  L98°SYT | 000°6ZY  00S°6  00S°STY 09267 018 €69°8Y
695°007  L¥if2 ZeTr86e | 609°86 L9 296° L6 000°7.2  00$°T  00§°2L2 QoafLz . ane 096° 12
99zf62e 005§ 99Lf8ze | 768°9¢ 4 768°9¢ 005°LLT 00§ 000°LLT oo A zL8'Tt
ZSE9L o7t Z12‘9L | 960°8 e 9608 o71°€9 oYt 000°€9 911°$ i 911
(ueyy aIom) (ueyy eJou)
Te30] usmo uspy 1830} usuo usp Te30% usuoy uep Tejol  usuoy us i
183103 92J0] ITY Luxy £ary

£rq A

£eq F-A

0oo000

00080

90000 O

coo0o0o0 o

7 T€ I9que

W

RIDNTUIS SHoH0d Qandy




